
/ /

/ /ZRP 559 GM 1,50
ZRP 557 8,10 0,13 Ø76 mini
ZRP 556 8,10 0,13 Ø76 mini

ZRP 559 PM 1,10
ZRP 558 1,80 0,03 Ø76 mini
ZRP 555 3,75 0,07 Ø76 mini
ZRP 554 3,85 0,07 Ø76 mini

ZRP 559 PM

ZRP 557

ZRP 556

ZRP 555

ZRP 554

ZRP 558

ZRP 559 GM

36
7

37
3

28
2

28
2

688

1558

31
2

28
2

55
5

49
7

28
2

1558

55
5

688

26
9

70
80

24
7

85

350

157

90

26
0

13
0

13
0

157

90

140

27
5

60
20

2

Philips
Lighting

ZRP 554/555/556/557/558/559

Installation instructions
Instructions de montage
Montageanweisung

Istruzioni di montaggio
Instrucciones de montaje

Monteringsanvisning
Montagevoorschrift

ZRP 556/557

ZRP 556/557 ZRP 556/557

ZRP 554/555/558 ZRP 554/555/558

ZRP 554/555/556/557 ZRP 558

1

2
5

4

3

1 2

P

C
B

P

C
B

4411 102 84652
05/2001
Printed in France
Data subject to change

NOTICE BRACKET 4 pages.qxd  16/05/01 14:01  Page 1



5 mm 6 mm3 mm

C = 16 Nm C = 34 NmC = 5 Nm

18 mm

C = 50 Nm

18 mm

C = 50 Nm

STHC M6x12

DE 8xØ14

A C D

D

E

E

E

F G H I J

H

H

GF

GF

I

J

B

A
CB

A
C B

D

E

E

A
CB

A
C B

H M12x70
DI 12xØ20

ZRP 554/555/556/557

ZRP 554/555/556/557

ZRP 554/555/556/557

ZRP 558

DECOFLOOD
605
606
616

TBHC M8x20
M8xØ18

Ø10x40xM8

TBHC M10x35

DI 10xØ18
NYLSTOP M12

1

2

3

ZRP 554/555/556/557/558

TBHC M12x40

CBL M5x16

TBHC M10x20

Ø14x40xM10

TBHC M8x30

TBHC M10x
60

T 15
5 mm

C = 16 Nm

6 mm

C = 34 Nm

6 mm

C = 34 Nm

8 mm

C = 50 Nm

L

L

ZRP 554/555/556/557/558

ZRP 556/557/559 GMZRP 559 PM ZRP 559 GM

L

Q
4X

6X

S

N O P QM

N
G

N
O

G

TBHC M12x50

8 mm

C = 50 Nm C = 4 Nm

K

TBHC M12x60

8 mm

C = 50 Nm C = 50 Nm C = 50 Nm

R

TBHC M12x70

8 mm

S

TBHC M12x75

8 mm

T

2

1

N
O

G

N
G

M

M
H

H

G

H

S
H

R
H

QG

ZRP 555/558

K

K

K

H

H

H

ZRP 554

T

T

R

H

H

H

NOTICE BRACKET 4 pages.qxd  16/05/01 14:01  Page 3



/ /

/ /ZRP 559 GM 1,50
ZRP 557 8,10 0,13 Ø76 mini
ZRP 556 8,10 0,13 Ø76 mini

ZRP 559 PM 1,10
ZRP 558 1,80 0,03 Ø76 mini
ZRP 555 3,75 0,07 Ø76 mini
ZRP 554 3,85 0,07 Ø76 mini

ZRP 559 PM

ZRP 557

ZRP 556

ZRP 555

ZRP 554

ZRP 558

ZRP 559 GM

36
7

37
3

28
2

28
2

688

1558

31
2

28
2

55
5

49
7

28
2

1558

55
5

688

26
9

70
80

24
7

85

350

157

90

26
0

13
0

13
0

157

90

140

27
5

60
20

2

Philips
Lighting

ZRP 554/555/556/557/558/559

Installation instructions
Instructions de montage
Montageanweisung

Istruzioni di montaggio
Instrucciones de montaje

Monteringsanvisning
Montagevoorschrift

ZRP 556/557

ZRP 556/557 ZRP 556/557

ZRP 554/555/558 ZRP 554/555/558

ZRP 554/555/556/557 ZRP 558

1

2
5

4

3

1 2

P

C
B

P

C
B

4411 102 84652
05/2001
Printed in France
Data subject to change

NOTICE BRACKET 4 pages.qxd  16/05/01 14:01  Page 1


